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Examples

1. The coordinates of the mid-point of the line

segment joining the points (l, 2m) and (-l +2m,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dpzEzqio9m4T


2l -2m) are

A. (l, m)

B. (l, -m)

C. (m, -l)

D. (m, l)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dpzEzqio9m4T


2. If the two end points of the diameter of a

circle be (7, 9) and (-1, -3) , then the centre of

the circle is

A. (3, 3)

B. (4, 6)

C. (3, -3)

D. (4, -6)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_o9F8pJDSFBkl


3. If any points divides the line segment

joining the points (2, -5) and (-3, -2) into the

ratio 4 : 3 externally. Then the ordinate of the

point is

A. -18

B. -7

C. 18

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nNSZohOAmNsQ


4. If P (1, 2), Q (4, 6), R (5, 7) and S (x, y) are the

successive four vertices of the parallelogram

PQRS, then

A. x = 2, y = 4

B. x = 3, y = 4

C. x = 2, y = 3

D. x = 2, y = 5

Answer:

https://dl.doubtnut.com/l/_nNSZohOAmNsQ
https://dl.doubtnut.com/l/_2kdLP8MEMHRO


Watch Video Solution

5. C is the centre of a circle and AB is it’s a

diameter. The corrdination of A and C are (6,

-7) and (5, -2) respectively. Find the coordinates

of B.

Watch Video Solution

6. The points P and Q are on the first and third

quadrant respectively and the distances of

them from the x-axis and y-axis are 6 units and

https://dl.doubtnut.com/l/_2kdLP8MEMHRO
https://dl.doubtnut.com/l/_tgAgWcZ0N2NW
https://dl.doubtnut.com/l/_Ad2uQQP939MM


4 units respectively. Find the coordinates of

mid-point .

Watch Video Solution

¯̄¯̄̄ ¯PQ

7. The points A and B lie on the second and

fourth quadrant respectively and the

distances of them from the x-axis and y-axis

are 8 units and 6 units respectively. Find the

coordinates of mid-point of AB.

Watch Video Solution

https://dl.doubtnut.com/l/_Ad2uQQP939MM
https://dl.doubtnut.com/l/_sV2diQyzGcPN
https://dl.doubtnut.com/l/_kGpMXEq8G4TM


8. P is a point on the line segment  such

that AP = PB. If the coordinates of A and B are

(3, -4) and (-5, 2) respectively find the

coordinates of P.

Watch Video Solution

¯̄̄ ¯̄¯AB

9. Determine the ratio in which the x-axis

divides the line segment joining the points (5,

-4) and (2, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_kGpMXEq8G4TM
https://dl.doubtnut.com/l/_P6jGYrPuFxeo


10. Determine the ratio into which the line

segment joining the points (-1, 2) and (4, -5)

are intersected at the point (-11, 16).

Watch Video Solution

11. The coordinates of P of the  are (-1,

-1), if the centroid of the triangle be ,

then find the mid-point of QR.

Watch Video Solution

ΔPQR

(2, )
4

3

https://dl.doubtnut.com/l/_t7eQTcgHLNsK
https://dl.doubtnut.com/l/_iWViYQkX12ED
https://dl.doubtnut.com/l/_aIkOfVSNJchO


12. (2, 6) is the centre of a circle and one of its

chords of length of length 24 units is bisected

at (-1, 2). Find the radius of the circle.

Watch Video Solution

13. Determine the ratio in which the line

segment joining the points (7, 3) and (-9, 6) is

divided by the y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_aIkOfVSNJchO
https://dl.doubtnut.com/l/_5BKQYWYbIcZk
https://dl.doubtnut.com/l/_bhrSX5GGktKe


14. Prove that the point A (7, 3), B (9, 6), C (10,

12) and D(8, 9) when joined consecutively

produce a parallelogram.

Watch Video Solution

15. Find (x, y) if the points (3, 2), (6, 3), (x, y) and

(6, 5) produce a parallelogram when joined

successively.

Watch Video Solution

https://dl.doubtnut.com/l/_bhrSX5GGktKe
https://dl.doubtnut.com/l/_skelp9UWJ4p7


16. If the points

 when

joined successively produce a parallelogram,

prove that

.

Watch Video Solution

(x1, y1), (x2, y2), (x3, y3) and (x4, y4)

x1 + x3 = x2 + x4 and y1 + y3 = y2 + y4

17. (2, -4), (6, -2) and (-4, 2) are the vertices of a

triangle. Find the length of its medians.

Watch Video Solution

https://dl.doubtnut.com/l/_33NtxQs078OC
https://dl.doubtnut.com/l/_A0MlJDNC2EIR


18. Find the coordinates of the midpoint of the

line segment intersected by the axes of the

straight line 4x + 3y + 12 = 0.

Watch Video Solution

19. Determine the ratio in which the straight

line 3x + 4y = 21 divides the line segment

obtained by joining the points (-9, 5) and (7, 9).

Watch Video Solution

https://dl.doubtnut.com/l/_A0MlJDNC2EIR
https://dl.doubtnut.com/l/_OosXE9nMm7uD
https://dl.doubtnut.com/l/_jcLeshDVnZH3


Exercise 2

20. If the points (5, 2), (x, 7), (-1, 4) and (1, y)

after joining successively produce a

parallelogram, find the values of x and y.

Watch Video Solution

1. The coordinates of the mid-point of the line

segment obtained by joining the points (l, m)

and (l + m, l - m) are

https://dl.doubtnut.com/l/_6ccDu4Rk2axy
https://dl.doubtnut.com/l/_6kS2Mc1GZRVM


A. 

B. (m, l)

C. 

D. 

Answer:

Watch Video Solution

(m + , )
l

2

m

2

(m + , l + )
l

2

m

2

(l + , )
m

2

l

2

2. The coordinates of the point which divides

internally the line segment obtained by

https://dl.doubtnut.com/l/_6kS2Mc1GZRVM
https://dl.doubtnut.com/l/_SORDbpAl7yet


joining the points (8, 9) and (-7, 4) into the

ratio 2 : 3 are

A. (7, 2)

B. (2, 7)

C. (-7, 2)

D. (2, -7)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SORDbpAl7yet


3. The coordinates of the point which divides

externally the line segment obtained by

joining the points (2, -5) and (-3, -2) into the

ratio 4 : 3 are

A. (18, 7)

B. (18, -7)

C. (-18, 7)

D. (7, -18)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pXPhREKQYhhF


Watch Video Solution

4. The two end points of the diameter of a

circle are (7, 9) and (-1, -3). Then the centre of

the circle is

A. (2, 3)

B. (3, 3)

C. (3, 2)

D. None of these

Answer:

https://dl.doubtnut.com/l/_pXPhREKQYhhF
https://dl.doubtnut.com/l/_f3oh1B95CI0Z


Watch Video Solution

5. The point of intersection of the medians of

a triangle with vertices (8, 4), (5, 7) and (-1, -2)

is

A. (3, 4)

B. (4, 3)

C. (2, 3)

D. (3, 2)

Answer:

https://dl.doubtnut.com/l/_f3oh1B95CI0Z
https://dl.doubtnut.com/l/_CltWjOkP6pJE


Watch Video Solution

6. (4, -3), (-5, 2) and (x, y) are the three vertices

of a triangle. If the centroid of the triangle be

the origen, find the values of x and y.

Watch Video Solution

7. Determine the ratio into which the y-axis

divides the line segment obtained by joining

the points (-3, 2) and (6, 1).

https://dl.doubtnut.com/l/_CltWjOkP6pJE
https://dl.doubtnut.com/l/_l1q8pu33tgrG
https://dl.doubtnut.com/l/_NpiDGQZI8knp


Watch Video Solution

8. Find the ratio into which the line segment

obtained by joining the points (-1, 2) and (4, -5)

is divided at (-11, 16).

Watch Video Solution

9. (1, -2) and (-2, 3) are the points A and B of

the . If the centroid of the triangle be

at the origin, then find the coordinates of C.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_NpiDGQZI8knp
https://dl.doubtnut.com/l/_0Qv5wy2OAmmR
https://dl.doubtnut.com/l/_Y4KWVpRY9XJ5


10. The coordinates of three consecutive

vertices of a parallelogram are (4, 3), (6, 7) and

(9, 10). Find the coordinates of fourth vertex.

Watch Video Solution

11. The sides of the rectangle ABCD are parallel

to the axes. If the coordinates of A and C are

(12, 3) and (7, 6) respectively, find the

coordinates of D.

https://dl.doubtnut.com/l/_Y4KWVpRY9XJ5
https://dl.doubtnut.com/l/_2C198dYF8a83
https://dl.doubtnut.com/l/_AHHx87ggnvUK


Watch Video Solution

12. P(1, 4), Q(3, -9) and R(-5, 2) are the vertices

of a triangle. Find the length of the median

passing through Q.

Watch Video Solution

13. Find the coordinates of the point at which

the line segment obtained by joining the

points (x + y, x - y) and (x - y, x + y) is divided

into the ratio x : y internally.

https://dl.doubtnut.com/l/_AHHx87ggnvUK
https://dl.doubtnut.com/l/_jr3y6fcH0lgL
https://dl.doubtnut.com/l/_qvo36arHhXN9


Watch Video Solution

14. Find the coordinates of the point at which

the line segment obtained by joining the

points (a, b) and (b, a) is divided externally into

the ratio (a - b) : (a + b).

Watch Video Solution

15. Find the ratio into which the line segment

obtained by joining the points (-3, 8) and (7, -7)

https://dl.doubtnut.com/l/_qvo36arHhXN9
https://dl.doubtnut.com/l/_Y90yoHQRGYiP
https://dl.doubtnut.com/l/_9EpOVUgZwLKF


at the point (1, 2).

Watch Video Solution

16. Find the ratio into which the line segment

obtained by joining the points (4, 7) and (1, -2)

at a point (-5, -20).

Watch Video Solution

17. Determine the ratio into which the line

segment obtained by joining the points (3, 4)

https://dl.doubtnut.com/l/_9EpOVUgZwLKF
https://dl.doubtnut.com/l/_F6jjavz8Oz7p
https://dl.doubtnut.com/l/_RrZLJi3J44k9


and (2, -3) by the x-axis. Also find the ratio into

which same line is divided by the y-axis.

Watch Video Solution

18. If the points (3, 2), (6, 3), (x, y) and (6, 5)

when joined successively produce a

parallelogram then find (x, y).

Watch Video Solution

https://dl.doubtnut.com/l/_RrZLJi3J44k9
https://dl.doubtnut.com/l/_6LxFBCQnoqa2


19. (2, 1), (5, 4) and (1, 4) are three vertices of a

parallelgram. Find the coordinates of the

vertex opposite to (2, 1).

Watch Video Solution

20. A(-3, 5) and B(1, 7) are two consecutive

vertices of a parallelogram. If the point of

intersection of its diagonals be (1, 1), then find

its other two vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_mSmAMnoZJSFX
https://dl.doubtnut.com/l/_Q4OMvdemJQxq


21. P is a point on  such that . If

the coordinates of A and B be (3, -4) and (-5, 2)

respectively, find P.

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄̄ ¯̄¯AP = 3̄ ¯̄̄ ¯̄PB

22. The sides of a rectangle are 20 units and 10

units respectively and are parallel to the

coordinate axes. If the point of intersection of

its diagonals be (4, -2), then find the four

vertices of the rectangle.

https://dl.doubtnut.com/l/_Q4OMvdemJQxq
https://dl.doubtnut.com/l/_YXthrNhePknL
https://dl.doubtnut.com/l/_z8ws0kRdP95E


Watch Video Solution

23. P (2, -5), Q(1, -2) and R(4, 7) are the vertices

of a triangle. Find the coordinates of the point

of intersection of its side PR and the bisector

of the angle Q.

Watch Video Solution

24. Find the ratio into which the line segment

obtained by joining the points (4, 5) and (7, -1)

https://dl.doubtnut.com/l/_z8ws0kRdP95E
https://dl.doubtnut.com/l/_oryjBVmMl6kW
https://dl.doubtnut.com/l/_hB1THHKK3X7R


is divided by the straight line 5x + 4y = 4.

Watch Video Solution

25. The straight line 4x + 3y - 12 = 0 intersects

the x -and y-axis A and B respectively. Find the

coordinates of the point at which the straight

line  is divided internally into the ratio 2 : 1.

Watch Video Solution

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_hB1THHKK3X7R
https://dl.doubtnut.com/l/_ljky8TJok5tL


26. If the points P (a, 1), Q (1, b), R (-2, 11) are

collinear and Q be the mid - point of , then

find the value of a and b.

Watch Video Solution

¯̄̄ ¯̄¯PR

27. If one of the vertices and the centroid of a

triangle be (1, 2) and (1, 1) respectively, then

find the coordinates of the mid-point of the

opposite side of its given vertex.

Watch Video Solution

https://dl.doubtnut.com/l/_flnpiBqMvjQ7
https://dl.doubtnut.com/l/_N8ANrkZMlOh5


28. P and Q are such two points on the line

segment obtained by joining the points A (-2,

5) and B (3, 1) that AP = PQ = QB. Then find the

coordinates of the mid-point of PQ.

Watch Video Solution

29. Find the coordinates of the vertices of a

triangle of which D (2, -1), E (-1, 4) and F(-2, 2)

are the mid-points of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_N8ANrkZMlOh5
https://dl.doubtnut.com/l/_oRCUPF3vIJhL
https://dl.doubtnut.com/l/_g83HkGAE1NAf


30. If (2, 0), (4, 4) and (6, 2) are the vertices of

the triangle ABC, then find the lengths of its

medians.

Watch Video Solution

https://dl.doubtnut.com/l/_g83HkGAE1NAf
https://dl.doubtnut.com/l/_GPZNTr62fuoQ

